TUBE-O-MAT® VI+

7-120 kg

- )

PN
8¢ EGEBJERG

‘Q‘\". INTERNATIONAL

EGEBJERG INTERNATIONAL A/S » DENMARK +« TEL. +45 59 36 05 05 » WWW.EGEBJERG.COM



TUBE-O-MAT VI+

1 pes. Art no. 73710 0

1 pcs. Art no. 70711
2 pcs. Art no. 73322 .

2 pcs. Art no. 70289

OR
2 pcs. Art no. 7028

/" POLY BAG 1 set. Art no. 76091

1 set. Art no. 76071

1 pcs. Art no. 73700
2 pcs. Art no. 73701 —————s=—===

2 pcs. Art no. 73711 ———

1 pcs. Art no. 72362 *

2 pcs. Art no. 61015

6 pcs. M6X12 Art no. 67162 {®
\4 pcs. M6 Nut Art no. 68522 & Y,

( POLY BAG 1 set. Art no. 76092

-
2 pes. Art no. 73712 = 2 pcs. M6X12 Art no. 67162 O
2 pcs. M6 Art no. 68522 §
2 pes. Art no. 61140 ——w» 2 pcs. M6x35 Art 0. 67220 (e
1 pcs. Art no. 61230 ——gpe 2 pcs. M6 Art no. 68520 @ )

1 set. Art no. 76451
2 pcs. Art no. 93245 ———gor

/ POLY BAG 1 set. Art no. 76481

6 pcs. M8x22 Art no. 67332

2 pcs. M8x16 Art no. 67327
4 pcs. M8x20 Art no. 67331

1 pcs. Art no. 72332% 12 pcs. M8 Art no. 68545
4 pcs. M6 68520

Art no.

1 pcs. Art no. 72316 M Kz pcs. U-Clamp  Art no. 69681 ﬁ/

1 pcs. Art no. 72235 &= -

1 pcs. Art no. 72050HG

oOi?T

1 set. Art no. 76261 /POLY BAG 1 set. Art no. 76280 \
1 pcs. Art no. 70750

1 pes. Art no. 72175 2 pcs. M8x20 Art no. 67330 m
2 pes. Art no. 70752 4 pcs. M8x20 Art no. 67331 Om®
1 pcs. Art no. 72178 3 pcs. M5x25 Art no. 67104 Omm
2 pes. Art no. 72177 7 pcs. M8 Art no. 68545 @

1 pcs. Art no. 72179

1 pcs. Art no. 72096 1 pcs. 3,2x20 Art no. 68897 o=
1 pcs. Art no. 72391 \1 pcs. 8mm Art no. 68726 o/

1 pcs. Art no. 72077
1 pcs. Art no. 72367
1 pcs. Art no. 72371

Revision 00 Date: 26-10-2010



Revision 00 Date: 26-10-2010



172179
\

168726




72077

| 72050HG

Date: 26-10-2010

Revision 00



72391

72332

Revision 00

Date: 26-10-2010



Revision 00 Date: 26-10-2010



17 Nm
12,5 ft-Ib




Revision 00 Date: 26-10-2010



68520

696381

10

evision

00 Date: 26-10-2010



11

Revision 00 Date: 26-10-2010



112-15mm

12

Date: 26-10-2010

Revision 00



13

evision



1400

770

730
690

255
| 215
175

820

608

1440

10 |

( 810

770
730

295

| 255

215

14

860

608

Revision 00

Date: 26-10-2010



1400
0
]
0
]
0
1E
0
0
i}
0
] <
0 S
] —
" 40
0
0
]
il
5 |
@ Yyl @9 x 25
e
50 i Eﬂ 5 - HE
0 0 N \.é -
- 605 i
i
1440
]
i .
0 0
1 0
0 0
0F KL
0 0
0 0
0 0
i 0
Hl 0 <
i 0 iy
0 ol 40 =
i 0
0 0
i 0
0 0
i 0
nl 1o 0
= ol 99x25
g !
851 Lol 12
0 0 f
(] o
= 605 o)

15
Revision 00 Date: 26-10-2010






